|Language Compiler|Optimizations|Loop Size |Loops inc?|Cycles
C++ C++ None (-g) 1000 Yes 189,315
c( C None (-g) 1000 Yes 265,170
C(I C None (-g) 1000 Yes 294,006
C(l11) C None (-g) 1000 Yes 243,029
C++ C++ -04 1000 Yes 61,713
(o(()] C -fast 1000 Yes 63,598
C(In C -fast 1000 Yes 94,630
C(l11) C -fast 1000 Yes 59,253
C++ C++ None (-O0) 10 No 333
(o(()] C None (-O0) 10 No 424
C(I C None (-O0) 10 No 455
C(I C++ None (-O0) 10 No 340
C(l1) C++ None (-O0) 10 No 304
C++ C++ -04 10 No 155
(o(()] C -fast 10 No 130
C(I C++ -04 10 No 154
C(I C -fast 10 No 154
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